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Homework 3.3

In exercises 1 — 6, find the derivative of each of the following functions.
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For exercises 7 and 8, find the value of the derivative

of the function at the given point.
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9. Find the following limit. %plain the reasoning that you used to arrive at your answer.

cos3(x+ h)—cos3x
h—0 h
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?(xﬂ& ~56) Se ) = cosS%.

CD; ‘()= - Sa (3 3
T4y = ~3 s (3%)

10. If £(x) = tan4x, then 7' (x)=_ 4 sec’(4x)

11. If /(0) = sec50, then f'(x)=_ S Jan (S&) < (SB) .

12. If f(0) =csc20 ,then f'(x)= ~2¢ot (}9) CSC (Jb)
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Use the table below to complete exercises 13 — 14.

X Jx) [’x) {€9) 2’(x)

) 1 -1 2 4
-1 3 ) 1 1
0 -1 2 2 3

13. If H(x)=+/f(x)-g(x), is the graph of H(x) increasing or decreasing when x =-1? Give a

reason for your answer. ‘(Y1) (-6
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14. If P(x)=(2f(x)+ g(x))3 . what is the value of P'(0)?
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15. Find the|e§uﬂign of the normal lind to the graph of /(x) = tan(3x) when x = % .
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